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Ten students— A, B, C,D, E, F, G, H, | and J are sitting in a row
facing West.

l. B and F are not sitting on either of the edges.

Il. G is sitting to the left of D and H is sitting to the right of J.
lll. There are four persons between E and A.

IV. | is to the North of B and F is to the South of D.

V. Jis in between A and D and G is in between E and F.

VI. There are two persons between H and C.
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Who is sitting at the seventh place counting from left?
(a) H (b) C (c) J (d) Either H or C (e) None of these

Who among the following is definitely sitting at one of the
ends? (a) C (b) H (c) E (d) Cannot be determined (e) None
of these

Who are immediate neighbours of I1? (a) BC (b) BH (c) AH
(d) Cannot be determined (e) None of these

Who is sitting second left of D? (a) G (b) F (c) E (d) J (e)
None of these

If G and A interchange their positions, then who become
the immediate neighbours of E? (a) G and F (b) Only F (b)
Only A (d) J and H (e) None of these




EG4BH T5 @ KSEDN £QZ5W3IC19*1B2S6

How many such consonants are there in the above sequence which are immediately preceded
by a symbol and immediately followed by a digit ?

g@ww#@ﬁ»dawm%mmmwmsﬁtmmwm
?

(a) One (b) Two (c) None (d) Three (e) More than three.

What should come in place of the question mark (?) in the following sequence ?
4H@, KDQ, ?, 9IS
(a) ZW1 (b) NQS (c) @8N (d) SW9 (e) None of these
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Which of the following is exactly in the midway between the ninth from left end and
the seventh from right end ?
ﬁmﬁf@aﬁﬁaﬁamaﬂ?#aﬁaﬁ?mm?#amﬂ;maﬁ#%?
(a) Q (b) Z (c) S (d) W (e) None of these

If the first fifteen elements are written in the reverse order then which of the following
will be seventh to the left of twelfth element from right end ?

aﬁqﬁwa—qﬁaﬁs—&w#ﬁmm%aﬁmﬁﬁaﬁ#aﬁam
g B ¥ dREd dcd & I ¥ HIdd TATT 9 gen?
(a) 7 (b) @ (c) 5 (d) K (e) None of these




If A + B means A is the father of B
If A x B means A is the sister of B

If AS B means A is the wife of B

If A % B means A is the mother of B
If A, B means A is the son of B

What should come in place of the question mark, to establish
that J 1s the brother of T in the expression?
J+P%H?T%L

() (b) =

(c) § (d) Either +or x

(e) Either+or+

Which among the given expressions indicate that M 1s the
daughter of D?

(@ L%RS$SD+TxM (b) L+R§D+MxT

(¢) L%R%D+T+M (d) D+LSR+MxT

() LSD+R%M=T



If A + B means A is the father of B
If A x B means A is the sister of B

If AS B means A is the wife of B

If A % B means A is the mother of B
If A, B means A is the son of B

Which among the following options is true if the expresssion
‘1+T%J x L+K’1sdefinitely true?

(a) Listhe daughterof T (b) Ksthe son-in-law of1
(¢) listhe grandmother of L (d) T 1sthe father of L

(e) Jisthe brother of L

What should come in place of the question mark, to establish
that T 1s the sister-in-law of Q in the expression?
R%TxP?2Q+V

(a) =+ (b) %

(€) X d 3

(e) Either$ or x



In a certain code, ‘always create new ideas’ is written as ‘ba ri sha gi’,
‘ideas and new thoughts’ is written as ‘fa gi ma ri’,

‘create thoughts and insights’ is written as ‘ma jo ba fa’, and

‘new and better solutions’ is written as ‘ki ri to fa’.

What is the code for ‘ideas’?
(a) sha (b) ba (c) gi (d) ma (e) Cannot be determined

What does 'fa' stand for?
(a) thoughts (b) insights (c) new (d) and (e) solutions

‘fa lo ba’ could be a code for which of the following?
(a) thoughts and action (b) create and innovate (c) ideas

and thoughts (d) create new solutions (e) always better
ideas




In a certain code, ‘always create new ideas’ is written as ‘ba ri sha gi’,
‘ideas and new thoughts’ is written as ‘fa gi ma ri’,

‘create thoughts and insights’ is written as ‘ma jo ba fa’, and

‘new and better solutions’ is written as ‘ki ri to fa’.

What is the code for ‘new’?
(a) ki (b) ri (c) to (d) fa (e) ba

Which of the following may represent ‘insights
always better’? (a) jo ki to (b) ki to ri (c) sha jo ri
(d) to sha jo (e) sha to ba




Statements : M<T.T<K K=D
Conclusions: I D>T
II. K>M

. p>M
(@) OnlyIand II are true

(b) OnlyIand Il are true
(¢) OnlyIIand III are true
(d) Allaretrue

(e) None of these




Statements : B>H H>A A=K

Conclusion : I B>K

. K<H
[l. A<B
(@) OnlyIand ITare true
(b) OnlyIand Il are true
(¢) OnlylIand III are true
(d) OnlylI 1strue
(e) None of these




Statements : W=N N>R, R<F

Conclusions: I F=N

II. W>N
[Il. R<W
(a) None s true
(b) OnlyIII is true
(¢) Onlyland IIare true

(d) OnlyIIand III are true
(¢) None of these




Statements : F=K, K>M, M<V
Conclusion : . F>V

. v<K
II. M>K
(@) Onlyl1istrue
(b) OnlylIl 1s true
(¢) OnlyIII 1strue
(d) Allaretrue
(e) None of these




Statements : N<D D<T, T=]

Conclusions: 1. J<D
II. N>
[II. T>N

(@) OnlyIIl1s true

(b) OnlylIl 1strue

(¢) Onlylistrue

(d) OnlyIandIIare true

(e) None of these
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Seven professionals A, B, C, D, E, Fand G are
practising their professions in different cities
Chennai, Bangalore, Hyderabad, Mumbai,
Ahmedabad, Jaipur and Bhubaneshwar, not
necessarily in the same order. Each has a
different profession-Doctor, Engineer,
Pharmacist, Lawyer, Counsellor, Professor
and Artist, not necessarily in the same order.
A is a Pharmacist and practises in
Bhubaneshwar. D practises in Bangalore but
is not a Doctor or an Artist. The one who
practises in Hyderabad is a Professor. G is a
Counsellor and does not practise in Mumbai
or Chennai. E is a Lawyer and practises in
Ahmedabad. F practises in Chennai but is
not an artist. C practises in Mumbai.




Seven professionals A, B, C, D, E, Fand G are
practising their professions in different cities
Chennai, Bangalore, Hyderabad, Mumbai,
Ahmedabad, Jaipur and Bhubaneshwar, not
necessarily in the same order. Each has a
different profession-Doctor, Engineer,
Pharmacist, Lawyer, Counsellor, Professor and
Artist, not necessarily in the same order. Ais a
Pharmacist and practises in Bhubaneshwar. D
practises in Bangalore but is not a Doctor or an
Artist. The one who practises in Hyderabad is a
Professor. G is a Counsellor and does not
practise in Mumbai or Chennai. E is a Lawyer
and practises in Ahmedabad. F practises in
Chennai but is not an artist. C practises in
Mumbai.




Professional City Profession What is D’s profession?
A Bhubaneshwar |Pharmacist (a) Doctor (b) Professor (c) Engineer (d) Cannot be
B Hyderabad Professor determined (e) None of these
C Mumbai Artist
D Bangalore Engineer Who is the Professor?
E Ahmedabad Lawyer (a) B (b) C(c) D (d) E (e) None of these
F Chennai Doctor
G Jaipur Counsellor Which of the following combinations of profession and

place is correct? (a) Pharmacist-Jaipur (b) Engineer-
Chennai (c) Doctor-Bangalore (d) Artist-Mumbai (e)
None of these

Which of the following persons works in Jaipur?
(a) B (b) G (c) C(d) B or G (e) None of these

Who is the Doctor? (a) D (b) B (c) C(d) B or C (e)
None of these




Input : sum 28 have 19 96 48 luck nice 78 rope
Step | : have sum 28 19 48 luck nice 78 rope 96
Step Il : luck have sum 28 19 48 nice rope 96 78
Step Il : nice luck have sum 28 19 rope 96 78 48
Step IV : rope nice luck have sum 19 96 78 48 28
Step V : sum rope nice luck have 96 78 48 28 19

Input : 49 last zen 16 82 yet can vast 33 aim 87 54




Input: 49 last zen 16 82 yetcan vast 33 aim 8754 How many steps will be needed to complete the
Stepl:aim49lastzen 16 82 yetcanvast33 5487 | arrangement?

Step11: canaim 49 last zen 16 yet vast 33548782 1 (8) IV (b) V (c) VI (d) VI (e) None of these

Step I11 : last can aim 49 zen 16 yet vast 33878254 [ \which step will be : vast last can aim zen 16 yet

Step IV ¢ vast last can aim zen 16 yet 3387825449 | 33 87 82 54 49 (a) 111 (b) 1 (c) VII (d) IV (e) There
Step V: yet vast last can aim zen 168782544933 | will be no such step

Step VI : zen yet vast last can aim 8782 544933 16 Which of the following would be step | 2

(a)aim 49 can zen 16 yet vast 33 54 87 82 last
(b) vast last can aim zen 16 yet 33 87 82 54 49
(c) zen 49 last 16 82 yet can vast 33 aim 54 87

(d) aim 49 last zen 82 yet can vast 33 87 54 16
(e) None of these




Input : 49 last zen 16 82 yet can vast 33 aim 87 54
Step I : aim 49 last zen 16 82 yet can vast 33 54 87
Step II : can aim 49 last zen 16 yet vast 33 54 8782
Step I11 : last can aim 49 zen 16 yet vast 33 87 82 54
Step IV : vast last can aim zen 16 yet 338782 5449
Step V : yet vast last can aim zen 16 87 82 54 49 33
Step VI : zen yet vast last can aim 8782 5449 33 16

In step V, which of the following words numbers
would be at 6th position from the right?
(a) 87 (b) 16 (c) 33 (d) zen (e) aim

Which of the following would be the final
arrangement ?

(a)zen yet vast last can aim 16 33 49 54 82 87
(b) aim can last vast yet zen 16 33 49 54 82 87
(c) aim can last vast yet zen 87 82 54 49 33 16
(d) zen yet vast last can aim 87 82 54 49 33 16
(e) None of these




Give answer

(a)if only conclusion | follows Give answer
(b) if only conclusion Il follows Give answer
(c) if either | or Il follows Give answer

(d) if neither I nor Il follows Give answer
(e) if both I and Il follows

Statements: Some squares are circles.
Nocircleis a triangle.
No line 1s a square.

Conclusions: I. All squares can never be triangles.
IL. Some lines are circles.
Conclusions: I. No triangle is a square.
IL. Nolineisacircle.




Give answer
(a)if only conclusion | follows Give answer

(b) if only conclusion Il follows Give answer
(c) if either | or Il follows Give answer
(d) if neither I nor Il follows Give answer

(e) if both I and Il follows

3: Statements: All songs are poems.

All poems are rhymes.

No rhymes 1s a paragraph.
Conclusions: I. No song is a paragraph.

No poem 1s a paragraph.
Conclusions: I. All rhymes are poems.

All songs are rhymes.




Statements:  Some dews are dmps. All drops are stones.
Conclusions: I. Atleast some dews are stones.
Il. Atleast some stones are drops.

Give answer

(a)if only conclusion | follows Give answer
(b) if only conclusion Il follows Give answer
(c) if either | or Il follows Give answer

(d) if neither I nor Il follows Give answer
(e) if both I and Il follows




